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PR Series

PRJ83DL PR63DL PR63GL

AT HAH E3112 E3112 FD620D
S 012 /RPM 24[17.7] / 3,000 24[17.7] / 3,000 19[13.7]/ 3,800
HE/HE ) d 2 (mm) 3,290/ 2,770/ 2,300 3,290 /2,110 /2,300 3,270/2,110 /2,050
X2 Azl (mm) F-1,200/R~-1,220
=7t A2 (mm) 1200
X2 (mm) F-650/R-950
AR A (6T 37,42, 50, 60, 70, 80(3 / 3.3m)
AR 210](9EH 10 ~50mm
i £ 1.86m/s 1.86m/s 1.81m/s
Az Y3 28 28 28
ZEZAIH7] E2HL) 133 70 70
(kg 271 7= 998 849 730
X 2 AIYS A5 TS 208l ol glo] HAE 4 AL
RGO Series
AT HAH 3TNM72-BKTP2 GX630 3TNM72-BKTP2
S o0t /RPM 22[16.2] / 3,400 20[14.5] / 3,600 22[16.2] / 3,400
HE/HE /M (mm) 3,470/2,070 /1,680 3,470/2,095 /1,650 3,545/2,100/ 1,845
X2 AHzl(mm) F-1,220/R-1,225 F-1,245/R-1,240
=7t A2|(mm) 1200 1,205
XFE (mm) F-650/R-950
Al Y (6EH 37,45,50, 60, 70, 80(3 / 3.3m)
AR 20| 15~ 45mm(8T) 15~ 45mm(6T) 10 ~ 45mm(8tt)
i £ 1.80m/s 1.75m/s 1.80m/s
A= H3() 35 35 50
EXAHZ| L) 90 90 90
(kg 271 7= 788 715 858




